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BACHELOR OF SCIENCE (B.Se.)

Term-End Examination, 2019

LIFE SCIENCE
LSE-10 : ANIMAL DIVERSITY -l
Time : 3 Hours Maximum Marks : 75

Note : Question no. 1 is compulsory. Attempt any six questions
from 2 to 8. Draw well labelled diagrams wherever
necessary. '

1. | ‘(a) Define the following (any four) : [4]
® Pseudobranch
(if) Somatic artery
(iii) Hypsodont
(iv) Plies
(v) Axial skeleton

(b) Differentiate between the following (any four) :
[2X4=8]
(i Volant and cursorial animal.

(ii) Circadian and circannual rhythm
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(iii) Glenoid cavity and acetabulum.
(iv) Mesorchium and mesovorium
(v) Th'yroid and parathyroid

To which order the following animals belong (any

three) : [1x3=3]
(i) Frog

(i) Monkey

iii) Shark

(iv) Wall lizard

Write the general characters of class mammalia.
6]

Differentiate between cartilaginous and beny fish.
[4]

Name any two hormones secreted by anterior

pituitory. What are their functions ? [4]

Discuss the specialised derivatives of

integument. . [6]

Describe the respiratory system of birds with the

help of a suitable diagram. [6]

(2)



(i) Describe the structure of the ruminant stomach

and give its significance. (4}
5. Discuss the stepwise evolution of heart from
protochordate stage to endothermic tetrapod. (10]
6. (i) Describe the different types of centra in vertebrae
of chordates. (6]

(ii) What are territorial behaviour and dominance

hierarchy ? How are they helpful in social

organization in vertebrates ? (4]
7. (i) Draw the structure of human eye (No explanation
required). (5]

(i) With the help of suitable example differentiate

between pronephros and metanephros. (5]
8. Write short notes on any two : [2x5=10]
i Pit organs in snakes.

(i) Echolocation in bats

(i)  Innate behaviour.
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